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ExamViel/

Remember that in the slope-intercept form of y=mx+5...
m is slope

b is y-intercept

x and y are coordinates on the line

Which of the following is equivalent to 4x — 3y = —6?

a. w.uw(i 0. y=-—2x-2

b. y= \WH...N d. y=xt2
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Remember that in the slope-intercept form of y=mx+5...
m is slope

b is y-intercept

x and y are coordinates on the line

Which of the following is equivalent to 8x— 9y = 10?

8 .10 8. 10

=Pyt =Y = Sy

a. ) o g c. ) 9" g
8 .10 8 10
b. y=_"x+— d y=—"x—
Y799 ! 9" 9
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Remember that in the slope-intercept form of ¥y =mx+b...
m is slope

b is y-intercept

x and y are coordinates on the line

Which of the following is equivalent to y = mﬁrmo

a. 6x—5y=-8 c. —6x+5y=-8
b. 6x+5y=8 d. —6x-5y=38
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Remember that in the slope-intercept form of ¥y =mx+b...

m is slope
b is y-intercept
x and y are coordinates on the line

Which of the following is equivalent to y = |M&|w@
a. 3x—4y=-5 c. 3x+4dy=-5
b. 3x—4y=5 d. 3x+4y=35
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Remember that in the slope-intercept form of y=mx+5... Remember that in the slope-intercept form of y=mx+5... S
m 1is slope m 1is slope M
b is y-intercept b is y-intercept @
x and y are coordinates on the line x and y are coordinates on the line W
h=
Which of the following match the points in the set? Which of the following match the points in the set? E
{(-6.8),(12,-7),(18,-12)} {(3,3),(-6,7),(-9,11)} W
5 5 4 4
= =x+3 = =x-3 =——x—1 = —x+l1
a y=ex c. y=gx a p=oax c. y=g
5 5 4 4
y=—=x+3 y=—=x-3 y=——x+1 = —x—1
b. ¥ & d. y & b. ¥ 3 d. y 3
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Remember that in the slope-intercept form of y=mx+5...
m is slope

b is y-intercept

x and y are coordinates on the line

‘Which of the following match the points in the set?

.ﬁﬁw > Qvu A\Qu \Quu AOu Hmcu_.v

a. 4x—3y=-06 c. 4x—-3y=6
b. “4x+3y=-6 d. 4x+3y=6

Remember that in the slope-intercept form of y=mx+5...
m is slope

b is y-intercept

x and y are coordinates on the line

‘Which of the following match the points in the set?
{(-4,-4).(8,11), (-12,-14)}

a. Sx+4y=-+4 c. Sw+4y=4
b. Sx—4y=—+4 d. Sx—4=4
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Find the y-intercept of a line that goes through (6, 7) and has a slope of W

Find the y-intercept of a line that goes through (-6, —8) and has a slope of 1.

www.mrtownsend.com

math8_04_21_examples_notes.gwb - 11/12 - Thu Nov 14 2019 16:35:18

math8_04_21_examples_notes.gwb - 12/12 - Thu Nov 14 2019 16:37:13

powered by
mxw:..s.m@

Find the y-intercept of a line that goes through (-4, —9) and has a slope of W

Find the y-intercept of a line that goes through (6, —16) and has a slope of —2.






